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Supplementary Table 1. Relationship between response to the first question and demographic factors.
	　
	Coefficient

	
	Q1
	　
	Q2 
	　
	Q3
	　
	Q4
	　
	Q5
	　
	Q6
	　

	　
	Income
	0.0014**
	　
	0.00099*
	　
	0.0014***
	　
	0.00066
	　
	0.0011**
	　
	-0.000014
	　

	　
	Age
	-0.0031
	　
	0.0022
	　
	-0.015*
	　
	-0.0049
	　
	-0.012
	　
	-0.0015
	　

	　
	Marital status
	0.49**
	　
	-0.27
	　
	0.39*
	　
	0.089
	　
	0.58***
	　
	0.075
	　

	　
	Pattern of employment
	-0.57**
	　
	0.40*
	　
	-0.44*
	　
	0.30
	　
	-0.40
	　
	0.26
	　

	　
	Education level
	0.23
	　
	0.0026
	　
	0.096
	　
	0.11
	　
	-0.024
	　
	0.16
	　

	
	*p < 0.1; **p < 0.05, ***p < 0.01
	
	
	
	
	
	
	
	
	
	
	














Supplementary Figure 1 Example of WTP questionnaire (Questionnaire 7)
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You were diagnosed with a deadly form of cancer.

You can get a standard treatment you live for 6 months with impaired health before you die.
Also assume that you can buy a novel drug that can prolong your survival by 6 months.

The novel drug is not covered by social insurance and you have to pay it one time.

What is the highest amount you would pay for the drug?
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